
©i h2C0s1Z0b gKAuvtcai gSzoSfstbw6aqrteD DLULyC8.w e ZArlvle xrwiXgWhTt8sr crXejs4eJrUvhepdk.F 8 XMkasdJeE nwbi7t0hW nIlnQf9iGndiXtYex KAulHghedbNrJab G2e.P Worksheet by Kuta Software LLC

N12TrigEq
ID: 1

Name___________________________________

  Period____Date________________
©m C2d0H1b0u EKnuntTan MSrosfQtjwLaprZek SLrLnCE.u L QAtlnlU qrhitgXh0tMsU crpensTeKrSv8eDdz.G

Simple Trig Equations #1

Solve each equation for 0000 ≤  ≤  ≤  ≤ 

     

θθθθ

 

 <  <  <  < 360360360360.

1)  tan

   

θ

 

 = −1 2)  

 

6tan

   

θ

 

 = 

 

−2 3

3)  

 

−1 + tan

   

θ

 

 = 

  

−3 + 3

3
4)  

 

2

3
 = 

  

2

3
cos

   

θ

 

5)  0 = 

  

−
1

5
sin

   

θ

 

6)  

  

−2 − 

 

3

2
 = 

 

−1 + sin

   

θ

 

7)  

 

1 + cos

   

θ

 

 = 

  

2 + 3

2

8)  3 = 

 

−3tan

   

θ

 

9)  

 

2

3
 = 

  

−
2

3
sin

   

θ

 

10)  

  

−6 + 

 

2 3

3
 = 

 

−2 + cos

   

θ

        

Solve each equation for 0000 ≤  ≤  ≤  ≤ 

     

θθθθ

 

 <  <  <  < 

 

2222

     

ππππ

 

.

11)  

 

4 3 = 

 

6cos

   

θ

 

12)  

 

−4sin

   

θ

 

 = 

 

2 2
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13)  

 

−2 + cos

   

θ

 

 = 

  

−4 − 

 

2

2

14)  

 

3tan

   

θ

 

 = 0

15)  −4 = 

 

4cos

   

θ

 

16)  

  

−
1

4
sin

   

θ

 

 = 

 

−

 

2

4

17)  −2 = 

 

−4sin

   

θ

 

18)  0 = 

 

−3cos

   

θ

 

19)  4 = 

 

4 + tan

   

θ

 

20)  

 

−
3

2
 = 

 

−2 + sin

   

θ

 

Solve each equation for 0000 ≤  ≤  ≤  ≤ 

     

θθθθ

 

 <  <  <  < 360360360360.

21)  

 

−4 + 

 

5cos

   

θ

 

 = 

 

−7 + 

 

2cos

   

θ

 

22)  

 

−5 − 

 

5cos

   

θ

 

 = 

 

−5 − 

 

2cos

   

θ

 

23)  

 

−6 − 

 

3cos

   

θ

 

 = 

 

−4 − 

 

cos

   

θ

 

24)  

 

8 + 

 

2tan

   

θ

 

 = 

  

2 3 + 8
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Simple Trig Equations #1

Solve each equation for 0000 ≤  ≤  ≤  ≤ 

     

θθθθ

 

 <  <  <  < 360360360360.

1)  tan

   

θ

 

 = −1

{135, 315}

2)  

 

6tan

   

θ

 

 = 

 

−2 3

{150, 330}

3)  

 

−1 + tan

   

θ

 

 = 

  

−3 + 3

3

{30, 210}

4)  

 

2

3
 = 

  

2

3
cos

   

θ

 

{45, 315}

5)  0 = 

  

−
1

5
sin

   

θ

 

{0, 180}

6)  

  

−2 − 

 

3

2
 = 

 

−1 + sin

   

θ

 

{240, 300}

7)  

 

1 + cos

   

θ

 

 = 

  

2 + 3

2

{30, 330}

8)  3 = 

 

−3tan

   

θ

 

{135, 315}

9)  

 

2

3
 = 

  

−
2

3
sin

   

θ

 

{225, 315}

10)  

  

−6 + 

 

2 3

3
 = 

 

−2 + cos

   

θ

 

No solution.

       

Solve each equation for 0000 ≤  ≤  ≤  ≤ 

     

θθθθ

 

 <  <  <  < 

 

2222

     

ππππ

 

.

11)  

 

4 3 = 

 

6cos

   

θ

 

No solution.

12)  

 

−4sin

   

θ

 

 = 

 

2 2

        

{

    

5

  

π

 

4
, 

    

7

  

π

 

4 }
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13)  

 

−2 + cos

   

θ

 

 = 

  

−4 − 

 

2

2

        

{

    

3

  

π

 

4
, 

    

5

  

π

 

4 }

14)  

 

3tan

   

θ

 

 = 0

   

{0, 

  

π

 

}

15)  −4 = 

 

4cos

   

θ

    

{

  

π

 

}
16)  

  

−
1

4
sin

   

θ

 

 = 

 

−

 

2

4

No solution.

17)  −2 = 

 

−4sin

   

θ

         

{

      

π

 

6
, 

    

5

  

π

 

6 }

18)  0 = 

 

−3cos

   

θ

         

{

      

π

 

2
, 

    

3

  

π

 

2 }

19)  4 = 

 

4 + tan

   

θ

    

{0, 

  

π

 

}
20)  

 

−
3

2
 = 

 

−2 + sin

   

θ

         

{

      

π

 

6
, 

    

5

  

π

 

6 }

Solve each equation for 0000 ≤  ≤  ≤  ≤ 

     

θθθθ

 

 <  <  <  < 360360360360.

21)  

 

−4 + 

 

5cos

   

θ

 

 = 

 

−7 + 

 

2cos

   

θ

 

{180}

22)  

 

−5 − 

 

5cos

   

θ

 

 = 

 

−5 − 

 

2cos

   

θ

 

{90, 270}

23)  

 

−6 − 

 

3cos

   

θ

 

 = 

 

−4 − 

 

cos

   

θ

 

{180}

24)  

 

8 + 

 

2tan

   

θ

 

 = 

  

2 3 + 8

{60, 240}
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